
20
23



June 2023

RODRUNNER REF NO: TC-AC-378 ADAPTABLE ACURA

Control Arm and Ball Joint

Weight: 4,22

ILX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DE1/2/3 2013-2022 Front Right
Lower

51350TV9A01

Length: 347 Bolt Metric: M14X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1054 Ball Joint Front Lower 25784240*, 25784239*

RODRUNNER REF NO: TC-AC-378S ADAPTABLE ACURA

Control Arm

Weight: 3,454

ILX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DE1/2/3 2013-2022 Front Right
Lower

51350TV9A01*

Length: 275

www.rodrunnerparts.com 1



June 2023

RODRUNNER REF NO: TC-AC-379 ADAPTABLE ACURA

Control Arm and Ball Joint

Weight: 4,22

ILX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DE1/2/3 2013-2022 Front Left
Lower

51360TV9A01

Length: 347 Bolt Metric: M14X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-1054 Ball Joint Front Lower 25784240*, 25784239*

RODRUNNER REF NO: TC-AC-379S ADAPTABLE ACURA

Control Arm

Weight: 3,454

ILX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DE1/2/3 2013-2022 Front Left
Lower

51360TV9A01*

Length: 275

www.rodrunnerparts.com 2



June 2023

RODRUNNER REF NO: AJ-CH-1183 ADAPTABLE BUICK

Tie Rod

Weight: 0,728

ENCLAVE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front 84878450

Length: 305 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: AJ-CH-1183 ADAPTABLE CHEVROLET

Tie Rod

Weight: 0,728

TRAVERSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front 84878450

Length: 305 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 3



June 2023

RODRUNNER REF NO: BC-RE-BS126 ADAPTABLE DACIA

Control Arm Bushing

Weight: 0,255

LOGAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Inner 545041584R*, 545054787R*

Length: 43,7

TC-R-968
Control Arm

and Ball Joint
Front Right 545041584R

TC-R-969
Control Arm

and Ball Joint
Front Left 545054787R

RODRUNNER REF NO: BC-RE-BS126 ADAPTABLE DACIA

Control Arm Bushing

Weight: 0,255

SANDERO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DJF/BJI 2020- Front Inner 545041584R*, 545054787R*

Length: 43,7

TC-R-968
Control Arm

and Ball Joint
Front Right 545041584R

TC-R-969
Control Arm

and Ball Joint
Front Left 545054787R

www.rodrunnerparts.com 4



June 2023

RODRUNNER REF NO: BC-RE-BS127 ADAPTABLE DACIA

Control Arm Bushing

Weight: 0,16

LOGAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Outer 545041584R*, 545054787R*

Length: 53

TC-R-968
Control Arm

and Ball Joint
Front Right 545041584R

TC-R-969
Control Arm

and Ball Joint
Front Left 545054787R

RODRUNNER REF NO: BC-RE-BS127 ADAPTABLE DACIA

Control Arm Bushing

Weight: 0,16

SANDERO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DJF/BJI 2020- Front Outer 545041584R*, 545054787R*

Length: 53

TC-R-968
Control Arm

and Ball Joint
Front Right 545041584R

TC-R-969
Control Arm

and Ball Joint
Front Left 545054787R

www.rodrunnerparts.com 5



June 2023

RODRUNNER REF NO: TC-R-968 ADAPTABLE DACIA

Control Arm and Ball Joint

Weight: 2,75

LOGAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Right 545041584R

Length: 350,3

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-R-1005 Ball Joint Front 545041584R*, 545054787R*

BC-RE-BS126
Control Arm

Bushing
Front Inner 545041584R*, 545054787R*

BC-RE-BS127
Control Arm

Bushing
Front Outer 545041584R*, 545054787R*

RODRUNNER REF NO: TC-R-968 ADAPTABLE DACIA

Control Arm and Ball Joint

Weight: 2,75

SANDERO

MODEL NO BODY YEAR DIRECTION OEM NO

DJF/BJI 2020- Front Right 545041584R

Length: 350,3

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-R-1005 Ball Joint Front 545041584R*, 545054787R*

BC-RE-BS126
Control Arm

Bushing
Front Inner 545041584R*, 545054787R*

BC-RE-BS127
Control Arm

Bushing
Front Outer 545041584R*, 545054787R*

www.rodrunnerparts.com 6



June 2023

RODRUNNER REF NO: TC-R-969 ADAPTABLE DACIA

Control Arm and Ball Joint

Weight: 2,75

LOGAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2020- Front Left 545054787R

Length: 350,3

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-R-1005 Ball Joint Front 545041584R*, 545054787R*

BC-RE-BS126
Control Arm

Bushing
Front Inner 545041584R*, 545054787R*

BC-RE-BS127
Control Arm

Bushing
Front Outer 545041584R*, 545054787R*

RODRUNNER REF NO: TC-R-969 ADAPTABLE DACIA

Control Arm and Ball Joint

Weight: 2,75

SANDERO

MODEL NO BODY YEAR DIRECTION OEM NO

DJF/BJI 2020- Front Left 545054787R

Length: 350,3

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-R-1005 Ball Joint Front 545041584R*, 545054787R*

BC-RE-BS126
Control Arm

Bushing
Front Inner 545041584R*, 545054787R*

BC-RE-BS127
Control Arm

Bushing
Front Outer 545041584R*, 545054787R*

www.rodrunnerparts.com 7



June 2023

RODRUNNER REF NO: LS-FO-1496A ADAPTABLE FORD

Stabilizer Bar Link

Weight: 0,579

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Front LB5Z5K484A

Length: 250,5 Bolt Metric: M14X1,5

RODRUNNER REF NO: TC-FO-1868 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 3,277

ESCAPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2020- Front Right
Lower

LX6Z3078B

Length: 374

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS256
Control Arm

Bushing
Front Lower

Inner

2216265*, 2216267*,
JX613A423CEB*,
JX613A424CEB*

BC-FD-BS304
Control Arm

Bushing
Front Lower

Outer
2446223*, 2446227*,

LX613A424AEA, LX613A423AEA*

www.rodrunnerparts.com 8



June 2023

RODRUNNER REF NO: TC-FO-1869 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 3,277

ESCAPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2020- Front Left
Lower

LX6Z3079B

Length: 374

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS256
Control Arm

Bushing
Front Lower

Inner

2216265*, 2216267*,
JX613A423CEB*,
JX613A424CEB*

BC-FD-BS304
Control Arm

Bushing
Front Lower

Outer
2446223*, 2446227*,

LX613A424AEA, LX613A423AEA*

RODRUNNER REF NO: AJ-H-1223 ADAPTABLE HONDA

Tie Rod

Weight: 0,535

ACCORD

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 2018-2022 Front 53610TVAA01

Length: 209 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 9



June 2023

RODRUNNER REF NO: LS-HY-1136 ADAPTABLE HYUNDAI

Stabilizer Bar Link

Weight: 0,528

STARIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front 54830CG000

Length: 347 Bolt Metric: M12X1,25

RODRUNNER REF NO: TR-HY-1071 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,807

STARIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

US4 2022- Front Right 56825CG000

Length: 220 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.rodrunnerparts.com 10



June 2023

RODRUNNER REF NO: TR-HY-1072 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,807

STARIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

US4 2022- Front Left 56820CG000

Length: 220 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-HY-1081 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,527

ELANTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

AD 2016-2020 Front Right 56825J7000

Length: 120 Bolt Metric: M10X1,25 Housing Metric: M16X1,5

1.6L

YEAR ONLY
2017-2018

www.rodrunnerparts.com 11



June 2023

RODRUNNER REF NO: TR-HY-1081 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,527

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

OS 2018–2023 Front Right 56825J7000

Length: 120 Bolt Metric: M10X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-HY-1082 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,527

ELANTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

AD 2016-2020 Front Left 56820J7000

Length: 120 Bolt Metric: M10X1,25 Housing Metric: M16X1,5

YEAR ONLY
2017-2018

www.rodrunnerparts.com 12



June 2023

RODRUNNER REF NO: TR-HY-1082 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,527

KONA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

OS 2018–2023 Front Left 56820J7000

Length: 120 Bolt Metric: M10X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-HY-601 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,689

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NE 2022- Front Right 56825GI000

Length: 172 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.rodrunnerparts.com 13



June 2023

RODRUNNER REF NO: TR-HY-602 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,689

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NE 2022- Front Left 56820GI000

Length: 172 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: LS-JA-1026 ADAPTABLE JAGUAR

Stabilizer Bar Link

Weight: 0,234

XJ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X300 1994-1997 Front CAC9827

Length: 137

www.rodrunnerparts.com 14



June 2023

RODRUNNER REF NO: TR-HY-1081 ADAPTABLE KIA

Tie Rod End

Weight: 0,527

Forte

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2019- Front Right 56825J7000

Length: 120 Bolt Metric: M10X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-HY-1082 ADAPTABLE KIA

Tie Rod End

Weight: 0,527

Forte

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2019- Front Left 56820J7000

Length: 120 Bolt Metric: M10X1,25 Housing Metric: M16X1,5

www.rodrunnerparts.com 15



June 2023

RODRUNNER REF NO: TC-LA-438 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 1,909

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L405 2012-2021 Front Right
Upper

LR034212

Length: 252,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1253
Control Arm

Bushing
Front Upper LR034211*, LR034214*

VIN:From JA000001

RODRUNNER REF NO: TC-LA-439 ADAPTABLE LAND ROVER

Control Arm and Ball Joint

Weight: 1,909

RANGE ROVER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L405 2012-2021 Front Left
Upper

LR034215

Length: 252,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1253
Control Arm

Bushing
Front Upper LR034211*, LR034214*

VIN:From JA000001

www.rodrunnerparts.com 16



June 2023

RODRUNNER REF NO: TC-FO-1868 ADAPTABLE LINCOLN

Control Arm and Ball Joint

Weight: 3,277

CORSAIR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Front Right
Lower

LX6Z3078B

Length: 374

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS256
Control Arm

Bushing
Front Lower

Inner

2216265*, 2216267*,
JX613A423CEB*,
JX613A424CEB*

BC-FD-BS304
Control Arm

Bushing
Front Lower

Outer
2446223*, 2446227*,

LX613A424AEA, LX613A423AEA*

RODRUNNER REF NO: TC-FO-1869 ADAPTABLE LINCOLN

Control Arm and Ball Joint

Weight: 3,277

CORSAIR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Front Left
Lower

LX6Z3079B

Length: 374

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS256
Control Arm

Bushing
Front Lower

Inner

2216265*, 2216267*,
JX613A423CEB*,
JX613A424CEB*

BC-FD-BS304
Control Arm

Bushing
Front Lower

Outer
2446223*, 2446227*,

LX613A424AEA, LX613A423AEA*

www.rodrunnerparts.com 17



June 2023

RODRUNNER REF NO: TC-MA-1108 ADAPTABLE MAZDA

Control Arm and Ball Joint

Weight: 4,84

3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BP 2019- Front Right
Lower

BDER34300A

Length: 364,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MA-904 Ball Joint Front Lower BDER34300A*, BDER34350A*

To 3-27-20

RODRUNNER REF NO: TC-MA-1109 ADAPTABLE MAZDA

Control Arm and Ball Joint

Weight: 4,84

3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BP 2019- Front Left
Lower

BDER34350A

Length: 364,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MA-904 Ball Joint Front Lower BDER34300A*, BDER34350A*

To 3-27-20

www.rodrunnerparts.com 18



June 2023

RODRUNNER REF NO: LS-M-1206 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,662

EQS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V297 2021- Front Right 2973200600

Length: 279 Bolt Metric: M12X1,5

RODRUNNER REF NO: LS-M-1207 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,662

EQS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V297 2021- Front Left 2973200500

Length: 279 Bolt Metric: M12X1,5

www.rodrunnerparts.com 19



June 2023

RODRUNNER REF NO: TC-N-1468 ADAPTABLE NISSAN

Lateral Arm

Weight: 0,997

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Rear Forward 551106UA0A

Length: 292

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS157
Lateral Arm

Bushing
Rear Forward 551106UA0A*

RODRUNNER REF NO: BC-NI-BS157 ADAPTABLE NISSAN

Lateral Arm Bushing

Weight: 0,19

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Rear Forward 551106UA0A*

Length: 42

TC-N-1468 Lateral Arm Rear Forward 551106UA0A

www.rodrunnerparts.com 20



June 2023

RODRUNNER REF NO: TR-N-1181 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,458

FRONTIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

D22 1998-2004 Front D8510VK90A*

Length: 94 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-N-1181 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,458

Pickup

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

D22 1998-2012 Front D8510VK90A*

Length: 94 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.rodrunnerparts.com 21



June 2023

RODRUNNER REF NO: TR-N-1182 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,458

FRONTIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

D22 1998-2004 Front D8510VK90A*

Length: 94 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-N-1182 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,458

Pickup

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

D22 1998-2012 Front D8510VK90A*

Length: 94 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.rodrunnerparts.com 22



June 2023

RODRUNNER REF NO: TC-PO-558 ADAPTABLE PORSCHE

Control Arm and Ball Joint

Weight: 5,161

PANAMERA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

971 2017- Front Right
Lower

971407152R

Length: 353,1 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-PO-BS007
Control Arm

Bushing
Front Lower

Inner
971407152R*, 971407151R*

BC-PO-KT001
Control Arm
Bushing Kit

Front Lower
Outer

971407152R*, 971407151R*

RODRUNNER REF NO: TC-PO-559 ADAPTABLE PORSCHE

Control Arm and Ball Joint

Weight: 5,161

PANAMERA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

971 2017- Front Left
Lower

971407151R

Length: 353,1 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-PO-BS007
Control Arm

Bushing
Front Lower

Inner
971407152R*, 971407151R*

BC-PO-KT001
Control Arm
Bushing Kit

Front Lower
Outer

971407152R*, 971407151R*

www.rodrunnerparts.com 23



June 2023

RODRUNNER REF NO: BC-PO-BS007 ADAPTABLE PORSCHE

Control Arm Bushing

Weight: 0,189

PANAMERA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

971 2017- Front Lower
Inner

971407152R*, 971407151R*

Length: 62

TC-PO-558
Control Arm

and Ball Joint
Front Right

Lower
971407152R

TC-PO-559
Control Arm

and Ball Joint
Front Left

Lower
971407151R

RODRUNNER REF NO: BC-PO-KT001 ADAPTABLE PORSCHE

Control Arm Bushing Kit

Weight: 0,325

PANAMERA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

971 2017- Front Lower
Outer

971407152R*, 971407151R*

Length: 39

TC-PO-558
Control Arm

and Ball Joint
Front Right

Lower
971407152R

TC-PO-559
Control Arm

and Ball Joint
Front Left

Lower
971407151R

www.rodrunnerparts.com 24



June 2023

RODRUNNER REF NO: TC-R-968 ADAPTABLE RENAULT

Control Arm and Ball Joint

Weight: 2,75

TALIANT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Front Right 545041584R

Length: 350,3

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-R-1005 Ball Joint Front 545041584R*, 545054787R*

BC-RE-BS126
Control Arm

Bushing
Front Inner 545041584R*, 545054787R*

BC-RE-BS127
Control Arm

Bushing
Front Outer 545041584R*, 545054787R*

RODRUNNER REF NO: TC-R-969 ADAPTABLE RENAULT

Control Arm and Ball Joint

Weight: 2,75

TALIANT

MODEL NO BODY YEAR DIRECTION OEM NO

1st Gen 2020- Front Left 545054787R

Length: 350,3

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-R-1005 Ball Joint Front 545041584R*, 545054787R*

BC-RE-BS126
Control Arm

Bushing
Front Inner 545041584R*, 545054787R*

BC-RE-BS127
Control Arm

Bushing
Front Outer 545041584R*, 545054787R*

www.rodrunnerparts.com 25



June 2023

RODRUNNER REF NO: BC-RE-BS126 ADAPTABLE RENAULT

Control Arm Bushing

Weight: 0,255

TALIANT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Front Inner 545041584R*, 545054787R*

Length: 43,7

TC-R-968
Control Arm

and Ball Joint
Front Right 545041584R

TC-R-969
Control Arm

and Ball Joint
Front Left 545054787R

RODRUNNER REF NO: BC-RE-BS127 ADAPTABLE RENAULT

Control Arm Bushing

Weight: 0,16

TALIANT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Front Outer 545041584R*, 545054787R*

Length: 53

TC-R-968
Control Arm

and Ball Joint
Front Right 545041584R

TC-R-969
Control Arm

and Ball Joint
Front Left 545054787R

www.rodrunnerparts.com 26



June 2023

RODRUNNER REF NO: LS-SA-436 ADAPTABLE SAAB

Stabilizer Bar Link

Weight: 0,31

9_5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

YS3E 1997–2010 Rear K750135, 350263, 4565859,
4906111

Length: 81

Moog Type

RODRUNNER REF NO: LS-SA-436 ADAPTABLE SATURN

Stabilizer Bar Link

Weight: 0,31

L SEDAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2000–2005 Rear K750135, 350263, 4565859,
4906111

Length: 81

Moog Type

www.rodrunnerparts.com 27



June 2023

RODRUNNER REF NO: AJ-T-1233 ADAPTABLE TOYOTA

Tie Rod

Weight: 0,605

PRIUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XW10 2001-2003 Front EV800245, 4550309240,
4550349075

Length: 265 Bolt Metric: M14X1,5 Housing Metric: M18X1,5

Moog Type

RODRUNNER REF NO: LS-T-1146 ADAPTABLE TOYOTA

Stabilizer Bar Link

Weight: 0,508

HIGHLANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UX70 2019- Rear 488300E050*

Length: 122 Bolt Metric: M12X1,25

www.rodrunnerparts.com 28



June 2023

RODRUNNER REF NO: LS-T-1146 ADAPTABLE TOYOTA

Stabilizer Bar Link

Weight: 0,508

SIENNA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XL40 2019- Rear 488300E050*

Length: 122 Bolt Metric: M12X1,25

www.rodrunnerparts.com 29


